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ENGLISH VERSION
Instructions : (1) All questions are compulsory.
(2) All questions carry equal marks.
(3) Draw diagrams whenever necessary.

What is heredity? Describe an experiment of Mendal’s monohybrid ratio.
OR
Write notes on : { a ) Charectristics of life ( b ) Requirements of life

Define epigeal germination. Explain the gormination states in bean seed.
OR
What is Osmosis? Explain types of Osmosis mention importance of Osmosis.

Explain the entrance of bacteria in human body.

OR
( a ) Economic importance of cereals, earthworm and fish.
( b) Medicinal importance of ergot, Peniciliiium and Tulsi.

Explain the external and internal stracture of human eye with their vision process in it.

OR
Write notes on : ( a ) External structure of heart ( b ) Functions of blood.

Choose and write correct option from those given below each question (any seven) :
{ 1) How many pairs of chromosomes are present in human being?

(a)4 pairs (b ) 2 pairs (¢ ) 23 pairs ( d ) 22 pairs
(2 ) Who is responsible for spread of malaria disease?

( a ) male mosquito ( b)) female mossquito
( ¢ ) male anopheles mosquito ( d ) female anopheles mosquito

(3) Which units are digested by the enzyme present in saliva?
(a) protien ( b ) starch (¢ ) fat ( d ) vitamin
(4 ) The person with which blood group is known as universal acceptor?
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(a)A(b)B(c)AB(d)O

Who is father of genetics?

( a) Lamark ( b ) Mendel ( ¢ ) Darwin ( d ) Miller

From which part root is developed in plants?

( a) Redicle ( b) Top root ( ¢ ) Plumuce ( d ) Axis.

Egg stage of the silkworm is

( a) First stage ( b ) Second stage ( ¢ ) Third stage ( d ) Forth stage
What is produced in the anther?

( a) Pollen dust ( b)) Pollination ( ¢ ) Pistil ( d ) Stamens

Which of the following plant shows vegetative propagations by stern”
( a) Potato ( b ) Sweet potato ( ¢ ) Carrot ( d ) Radish

How many chambers are there in human heart?
(a)three (b ) two (¢ ) four (d ) one

Which type of plant was selected in Mendel’s experiment?
(a)pea(b) gram ( ¢ ) green gram ( d ) bajara.

What do the mammals show in a certain season?

(a)evergy (b) temperature ( ¢ ) respiration ( d ) excretion.




